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Mole(Gram
1. What is the mass in grams of 3.50mol of the element copper?

3.50 mol x 64g Cu = 224g

                    1 mol
Independent Practice: What is the mass in grams of 2.25mol of the element iron?

2. A chemist produced 11.9g of aluminum, Al. How many moles of aluminum were produced?

11.9gAl x   1mol = 0.441mol

                  27gAl
Independent Practice: How many moles of calcium are in 5.00g of calcium?

Atoms
3. How many moles of silver are in 3.01x1023 atoms of silver?

3.01x1023 atoms  x        1mol = 
0.500mol

                              6.022x1023 atoms
Independent Practice: How many moles of lead are in 1.50x1012 atoms of lead?

4. What is the mass in grams of 1.20x108 atoms of copper?

3.01x1023 atoms x  64gCu   =

32.0g Cu


 6.022x1023 atoms
Independent Practice: What is the mass in grams of 7.5x1015 atoms of nickel?

